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Instructions to Candidates

b

. The Question Bookiet containing 50 questions and the OMR answer sheet is given to you.

All questions are compulsory, each question carries one mark.

w N

During the examination,
* Read the questions carefully

. Completely darken/shade the relevant oval against Question No. in the OMR answer sheet
¢ using blue/black ball point pen. Do not try to alter the entry and not to do any stray marks on
- OMR Sheet.

* Ex: In a question paper if No. 3 is the correct answer for Questnon No. 20, then darken in OMR
answer sheet shade circle 3 using blue/black ball point pen as follows.

~ 20. @ @& o (This is an example only)

4. lf more than one oval is darkened for a gtven question, such answer is treated as wrong andno .
marks will be given.
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5. The'candrdate and Room SL]pervisor should sign in the OMR sheet

6. Candldate should return the OMR answer sheet only to the room supervisor before leaving the
~ examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside th‘e
~ examination hall.

8. Enghsh version of the questlon paper will be considered as final, in case of any dispute ansrng
out-of variation in translation version. -
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GENERAL MENTAL ABILITY TEST
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(Questions : 1~ 5) -

Directions : Complete the following number/
letter/figural series by choosing the correct
answer from the given alternatives.

1.1, 4, 5,10, 17, 28, 53, 7, 2
1) 58, 64
2) 64, 93
3) 78, 118
4) 82, 161

3.2, Y, w, u, R, O,

1) K
2) |

3) H
4) J

(T -

1-5)
RRWSneh : é@éédoa") TO3TOF ODNLOT
?déod:ad m_spasm% 803, NS :609:)35/
©BT/33ny \a”)ez‘érwgbd TPRERRDY.

. i,l,l,n 5, 30, ?
24’12 4

1) 150
2) 180
3) 210
4) 240
?,. G, B
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6. B : SRR IN0FTRDW
TP DR BWITBL, FRT

(Question : 6) | (-i""’:% :. 6)

6. Direction : Choose and substitute the
correct set of signs. in place of *

sequentially, selecting from the given 03008 WHNY Neeway, NG
alternatives to make the equation B3N Bdeéﬁaﬁeﬁo"_@omdm&

meaninngL | . TO3T0F ORRYOT B3O,

90+ 100+ 10* 100+ 110* 10

1) +, Xy F,=
2) =, T, X, 4+, =
3) :’ x’+’+’_

4) = T, X, +

(Qiue,s‘ti'on:“l) . - | BT
' ' 7. 2WS 1 39N AR 0edod

7. Direction : When the signs are changed
BB R, LBDN 30833088 030

~as shown below, which one of the given

equations will be correct ? - B0e3seesy FOCHNTIBE 9
—io x oSy xR
x to= ‘ . X E:ba =R
=10+ = + 1
+1t0 = | + abc{ = T?‘
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1) 96 -24 + 36 = 48 84 - 12

2)96+24-36 +48 x 84 =12

3) 96 +24 - 36 =48 - 84v>< 12

4) 96-24 + 36 48 =~ 84 =12

(Question : 8)'

8. A student starts from a place A
towards East and reaches place B.
From there he turns towards South-
West and reaches place C. He then
turns towe‘;rds South-East and reaches

place D. From there he turns towards

East and reaches a place E. He then
turns towards North and finally reaches

-place F. Which of the following figures

shows his ' movement ?

(Questions : 9 10)
Directions : In the following questions:_ﬁnd
the missing letters in the given pattern.

(=, : 8)

8 2.2 ;)csaﬁ@roﬁa m;eé A 0DOTW AT
TRTIE DIBY WO B¢ BA Iewzbag.
®Qow qjmaﬁg YonY)) :gpv cA
3@339336. ek tef e-:r&co&o @%ﬁ 3OA
:‘éeé D oxmoz c{SE)) wcggz:: IRIE
é%aﬁg 3O zgé ER BT, ©9ow
2T Q3R 3 IER :’é)# st&cs&

. B8.39NS oS VSR OTD WO
9"3255534 NRWDIR 9

B

3)
(cg%ﬁeéo 19 - 10) _ A
- BRWERNY ¢ 3kor &mﬁcﬁg 28 TRCAR -

VTONYR, 3oDT TIRCR 95300
“ R - ed =

0T L EBOWO.
L 2] T/ ao
2| 2| b 38
2 | F | 2 | a6
51 | 36 | 46
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9. Find the missing letter in the tlird 9. ZRTIJoD gowdg z:mg BRENTHT
column. v - VB TTR, TOWWROWO.

10. Find the missing letters in the second  10. QTRFOHN OTY WY, THENTHT

row. - 0BT, 30WBOND.
| 1) QH
2) R I
3) UM
| 4 VN
(Questions : 11 - 12) (e c11 - 12)

Directions : A problem figure is given at the BRUBRD | WERNTY 2,000 Tpa3gen,
left side. Find its correct mirror image fromthe 85503, T30 MOOIRT TRFED TBLI0LITBT,
alternatives. o | HO3PE OB RYOT FOBEBENO.
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(Question : 131)

13. A,B, C, DandE are the members of a

family.

. ‘ 1 .
a) The present age of A is 15 times

thatofB.
b) Bis twice the age of C.

c) Cis 8 years older than D.

1 .
d) Dis 1—2-‘ times the age of E.

Ifthe present agé of Eis 10 years, then find
the difference between the ages of B and D.

1) 48 yeaﬁs
2) 41 years
3) 31 years
4) 28 yéars

(Quésﬁons'f i4 - ﬁ8)

Directions : Complete the given number/
letter / figure analogy by choosing the correct
answer from the given alternatives.

14. 441 : 7

1)
) 8

N

2

W

—
N

)
)

E-N

(gj%ﬁ% :
TRWIneh &raésdow wOSQ‘aF'OSDﬁ@Od
slelovinial wéddsﬁo 302, 3.@&35)&5 RO&TD, /
©933/23 jxf‘@;ﬁ;ér’%ﬂﬁs e@@earrﬁfaw

=4

lllll!!lIlll!!ll!lliilillllllIIIIIIIIIIIlIIIl

13. A, B, C, Daiaéo Efaddoifeéa Mol
BHELOWT *’cﬁ"dz

" a) AOS) ;NS ESOSJAD Bo® 5303.%)23
1 Ojocéd

b) B o3 woia:fg) C o3 3055253

NTTIYE.
¢) Col» DNo3 8FRF BT,
d) D o% Fowexy E o Sodbay

1
15053%53.

Eo®» &0 7.)033,\0 10 IFe033 Baﬁosﬁa
Dﬁ@? A)OSDQJ)S boa’daﬂab B3OTLBOND.

1) 48 TRENH
2) 41 TREND
3) 31 JIENeh
4) 2B DWEID

14 - 18)

)

':576:?
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By B e, B

73 57 93
67 55 87 °°

15.

47

53

53
57

63
61

73
71

?
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(Questions:19‘—21) (i__j)%ﬁ% 19 = 21) .

Directions:ld{entifythe number of specified BRUWEIND : B9 Boeidhs BINLY B3
geometric shapes in the given diagrams and 2RNE0D 57,71 ;35’93 5, 20chiBs
markhe corrast answers. | m%dwm ST R

19. How many triangles are there in the 19, ﬂraégdad a&gdeg aéﬁg
~ given figure ? :

SWDWRPT 9

)

1) 15
2) 14
3) 13
4) 11

20. How many quadrilaterals are there in 20. gf@%dm 33§C5§ Qmw %333?,33?‘2571@3 9
the given figure ? |

)7
2) 8
3) 9
_4) 10 |

21.. How many sl‘err“t'icircles are there in the 21__'33%535. a&gdg o @d?ag)gﬁ@ﬁ 9
‘given figure ? : >

1) 16
2) 18

3) 20
4) 24
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T

. 22)

(Question : 22) (@% .
22. Direction : Find the missing number in =~ 22. BRI : 83 ¥R 30L& T0L, -
the following pattern of numbers. TITOONY VD BRENTIT
;309_3?30635330l BORBROND.
6|16|15{10] 7
41711312} 11| 2| 8
3|82 7({16| 6|5
5|3 |14]13[12| 5|7
8 |17:| 14|15} 4
1) 18
2) 20
322
4) 26
(Question : 23) (3323 : |
| 23. P,Q,R,S, T3 Utd wHodd

23. P, Q, R,’S, T and U are six brothers.
Q is younger than P, but elder than S.
T is elder than P. R and U are twins.
P is elder than R and Q is younger than U.

Who is the eldest ?

XRReESD. QP P N0 SabasY
gD, &S S Mo Begsd. T

‘oo P 103 BegRD. RSB U

9339 TRRCTSD. Paiw R A0

GenEd e QY UNod

_z&%aﬁab. TS NONOZ S[ob2RD
Brgsd aled ?
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(Questions :24 - 25)

Directions : The following questions are
based on the given intersecting figures.

| 0
(FBries : 24 - 25) |
RO © 2 NS Bt Soeh

eI esse)a_mmd 33033,

-

1Y

24. Which pair of numbers given below
are inside any two figures only ?

24. 3R 4043 oind Rosie dinelaly
SRR S0m U 03 o8 9

1) 9,12

2) 3,11

3) 3,13

4) 11,1

25. Which of the following number lies in
the figures Ii, Il and IV only ?

25. 397 2T cins Hosdodn 3
1,153 V39 393 @g 9

19

2)
3)

5
8

4) 10

11
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(Question : 26)
26. In which one of the alternative figures
all the given components in the
problem figure are found ? ’

A

(gﬁﬁd 1 26)

26. oimos HeswECh WIHY [, WIBY

YR auR WRREe B 7

Problem {:>
figure '

(Question : 27)

27. Direction : Take the given statements as
true and decide which of the conclusions
logically follow from the statements.

Statements :
1. Some doctors are students.
2. All students are men.
Conclusions :
|. All doctors are men.
Il. All men-are not students.
il. Some men are doctors.
[V. All students are doctors.
1) Only conclusion | follows
2) Only conclusion Ii follows
3) Conclusions Il and il follow

4) Conclusions | and 1V follow

3) 4)

(w§ :

27. AuazSa% &@&3&&3 BN D QOTL
FADINEIN 03953 QeE OB FodF FwoN
mdaﬁﬁm?’d @ods "Bcss-‘m)
TewIND
1. 3O &%cﬁ& ébm@rmm
2. DR ;awa@mem aSaa‘saeodsda

stee'oimeéo :
. R wdécm mabeoﬁsdo

|| DY da%i’-beoﬁnda ébmtb‘:ﬁeé@
i é@&@ THRICODT a’icﬁdo
V. Q@9 &m@rr’em dd&
1) Fem®© JeF O | @w&w@a)%ﬁ
2) em® e o ITORZT
3) QeEE OPNTD 113 90RO §

4) VRF ORI | AV IV 90RO 3
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(Questions : 28 — 29)
Directions :In the following questions there
are four groups of numbers/letters of which

three are aliké and one is different. Find the

one which is different.

R O o

| @%ﬁ% : 28-29)

ARID 1 81 39N TYIvY Rosfiv /s
RIS 00 THOTHITD, 3083, FYRYeD
DA 2,00 Bedad ROROTHI, BROODHI:S,

20D Y DTN, PRERNDITR, THDSR.

28. 1) 121 64 gg
2) 169 36 76
3) 196 25 79
4) 225 16 g
29. ) ASTEROID

2) AQUIFORM
3) AVULSION
4 ARGUMENT

(Questions : 30 —.31' )

(FBnsd : 30-31)
"Dlrectu')n‘s : Fll."'ld the wrong numbgr/flgure Rpsne - 3@&3&&5 Serdred
in the given series. - o > &

BT, FoRBBONO.

Jmn Rosl)

30. 768, 96, 16, 8, 2
1) 2
2) 8
3)- 16
4) 96

31.
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(Questions : 32 - 33) | C (:o'\)")gdﬁ‘:i?_) : 32-33)
Directions : Find the missing numberinthe  XAWRND : LI SGINVY LLDBHNTR
given matrices. I T 73093250&3534 TODLHBONOD.
32. 112 16 7 256 N7
117 14?2 182 -2 8
143 12 11 156 - 3) 9
49 1
33%. 9 27 162 1) 17
13 39 234 2) 21
? 51 306 3 23
4) 31

(Questions : 34 — 35)‘ )
(3*55_4?1%"3 : 34 - 35)

BRURBRD : LI SFINYY VeBRNDS
RN, TOIE OHRLOT BOBZBBEND.

Directions : Find the missing part of the.
given figure from the alternatives.

14
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(Question : 36) O 23 - 36)
36. Inacodeif FH=48 and KH =88, 36. 200 Jodears %590 FH=48,33 KH=8
then the code for M G B is S Snd, MGBoY node3sy)
1) 166
2) 178
3) 182
4) 192
(Question 37) (ojé; 1 37)

37. Direction :In a group of letters, 37. 5RUS: “APDVGHNERM'8: b0
‘APDVGHNERM theorderofthe - YZON¥R, 3R Rouachmos @dm
letters is mterchanged as follows : : &)dm m@d

1% and 3" : 1 30D ma 3§o§o

2" and 5" | - ';230&5533_39553053

4"land 7" 4 303 @3 780

6" and 9" | 630D DI 930D

8" and 10" 8 [od m@b 10 S0
Find the nevil group of letters formed from zex mn dz,szmm Q%dmi o ‘-\b
the alternatives. OV CHRYOTS 5013050@0336

1)GNDAVPMEHR
2) DGANPRVMHE
38) DNAGPVRHME
4) VGNADRPEMH

(Questions : 38 -39) | (S ?371*53 $38-39)

38. Which one of the following Venn  38. 39308 wosR LETEY, B3 3%’7{
diagrams represents the relationship éfaéédoa“; O30 FRE 3 A B, C3)
among A, B, C and D under the D oA owoﬁda‘o Nmasﬁna’d ?
conditions given below : ' a) DY Co3» BR ; ead
a) Ali of C belongs to B. ' b) ‘B o [ o AR Beod,

b) Some part of B belongs toA. c) C ;5)3) B ne 3o -gwnins D A
¢) Some parts of bothCandeelong Ncaaﬁ
to D. .

@DC@D

1y 2)

-A
o



GMAT(K-10)

39. In a high school the languages studied
by the students are as follows :

a) 250 students study English
b) 180 students study Kannada

c) 160 students study Sanskrit'

d) 100 students study both English '

and Kannada

e) 80 students study both English
and Sanskrlt o .

'Fmd the total number of students in
the high school.

[T,

39. 20Ty TOF ToB0IY DT DENYD
@zsobs T5oTHT  POINed éeééocso@
%m '

a) 250@@@97&% ey @Z%Oﬁ)&’) oD eave)
b) 180 ;Jcsaﬁ@s'm‘o i @z%oim R
c¢) 160 amﬁarm*o :30*’%3 @z;%oiua’) DD
"d) 100 améc;ss'ﬁeéa QONETE T BT
DTRIR, WTOHT SRBDIDH

e) 80 QT as'm?o BONCT HF TOX3 |
adcém quos;as ssacmda -

PRTSoHODE 2ty AWPFRY B0,
FOTHBROWO.

1) 410
2) 400
3) 340
4) 330

(Question : 40)

40. The Independence Day was
celebrated in the year 2016 on
Monday. On.what day in 2018 the
Republic Day will be celebrated ?

1) Tuesday
2) Thursday
3). Friday

4) Saturday

16

(3, : 40)

40. 303 &mas‘dz%oﬁam 201609Q

,uac:owad wammoaoéo wmcﬁﬂ
2018{362 ﬁtamairaﬁegwﬁag O3RT AV
£32301eRMHRYTH ?

1) RvonLd
2) MBORT
3) 38w0T

1) a0
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(Questions : 41 - 42)

Directions

: In the questions given below the

numbers in the figures are related. Identify their

relationship and find the missing numbers in

the given figures.

a

| ,3'

1) 400,
2) 300,
3) 200,
4) 200,

0 S
(H3nsh : 41 -42) |
NRWIND : 33 FUR 3300 T3 nYY
BEENG) b | Roggnsd ROROTEID,
BRODE. B RO2OTS, ThHcthe SEXN )
2D, BroeNhas NOSZNEIR, FoREBBOND.

175
150
100
80

13 27 23
15 @25
1) 4
2) 5
3) 6
4) 7
(Question : 43) (Z3, : 43)

43. Direction : In the following question a

- problem figure is given. The problem

figure is hidden in one of the figures given

- as alternatives. Find the figure in which
the problem figure is hidden ?

Prablem figure
TT0,, 233,

1)

§§

17

43. el ¢ B N T3 0DY 2,08
TTRLIZH), B8, 8 TTOZW)
BRLSOT DU AT 4 3 Cbogyedee

- 200389 BN, aws HodwEd 23539

VT OBAT 20T, BoTbEERD,

B =
7 (¢

4)
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(Question : 44) o (|3, 44)

Direction : In the following qucstlon a set of ﬁwzéa’) 3INT . BB ODY 2.0t RO
numbers is given. From the given alternatives, Rz0R®BWDY, @JDESCS fadeda me@/doég
choose the set which is similar to the given set. No:m Nm@w@ womgojm@ocj 302,

44. 169, 289, 361
1) 25, 49, 121
0) 49, 81, 225
3) 225, 441, 529
4) 441, 529, 625

(Questions : 45 — 46) ('::3?3 neh : 45 —46)

45. Different faces of a cube are givéh 45. 83 ¥R 20T P 5353“ mmm
below. Identify the pairs of opposite ~ SRC0T. %Iaééd)d TSR odnvoTs asda’)d
faces from the alternatives. ' o ;3(5353 =000 zg;a;zgﬁe;go RS

7 3 /.3 L4 5
6-‘2 5 6 5 3 y »6
1) 1,2 ;34 ;56
2) 13;24 ;956
3) 13;25;486

4) 1,625 43

46. When the problem figure given atthe 45, oEwRRO 9 $06J005 TRy WIH, 20D

left side is folded into a cube, which
one of the cubes will, be formed ? z;s‘m%écdmﬂ sﬂa@»mﬁ Omw T

Identify from the aiternatives. YOOERMITH QOWOTY BRUTI
TOSEORNLOT LS.

JAN

®]<|0
¥

18
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(Questior: : 47) (gj}%;_ 47)
47. Direction: 47. TS :
A >B means “A is husband of B” A >B ©0ud Aot B ob noa
A -B means “A is brother of B” A=B ©038 Aok Bod Z®eead
A + B means “A is father of B A+B ©0m38 Ao Bod 308 .

A xB means “A}is‘ mother of B” AxB 2033 A 03% B o 3908

If P>QxR+S, howis P related toS?

Find the correct alternative, P>Q xR+S &g p D Sy
1) Pis father of S ﬁoaooc;fa‘a‘ool TRE o3y 0w
2 b father of & B0 BOWO. _
is grandfather of
ST 1) Pod» S& 203
3) Pisuncle of S
| ) 2) PO ST =03
Pisb linlaw of § . )
4) P is brother-in-law o 3) Podw S 33%%
4) P o3 SIEAR
(Question : 48) - (=3, 48)
o , 48. 13 1 33s Sesdodo) 23 X030
48. Direction : In the given sequence how . « ;3* - ;’j 2
many times an ODD number appears W, 200 2,08 253 %o 5 S 200D
between an ODD number and an EVEN STV NOS, BT 9BoBo3 23003 ?

number ?
536976554138737445

1) 6
2) 7
3) 8

4 9

19
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(Question : 49)

49. Direction : A parallelogram is given
below. Among the choices given,
identify which set of parts of figure is.
required to form the parallelogram.

(3, :

T e
49)

49. RS : B8 YR O A[PFe03T
zia’oa;’of'zsdm 3RUT. eﬁoiamf@
30t30033 23333 z:mﬁmi 03303 maﬁ\)v
"a"mmoéd BBGNE BRI, RIVTIED
@assmﬂd DOTH THTSA.

/~

/-

e

1) A,B,E,F
2) A,C,D,F
3) A,B,C,E
4) A,B,D,F

(Question : 50)

50. Arectangularparkwitharea 120x80sq.m.
“has four gates A, B, C and D as shown

(33, : 50)

50. 39300 WITY 3peOATHToZ 10T
SOHTITUL TS D200 120 x 80UDe.

in the figure. Q-ﬁﬁt;ﬁ% @d% A, B, C ;3333 D mo’o&
C ReEIF AL,
B - —
— 120 x 80 sq.m. ~— D
il

A
20
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Anil and Klran enter the park together from
gate C and start walking in the anticlockwise
direction.

“a) Anil completes 3 rounds and in the
fourth r&und he exits from the gate A.

b) Kiran completes 4 rounds and in the
fifth round he exits from the gate D.

Find the difference between the distances
covered by them.

1) 340 m
2) 400 m
3) 500 m
4) 560 m

21

LT

CHG 53333 3(5?56‘ eaud;a msﬁ *-oum

C feeamy, *’3@2’32; TR é)dod AN
(0T3S :amﬂ) oy edowwsa

a) VD 3 Aoaﬁe;afo @:arﬁ.raﬁ?,q ‘
me)a?c wéd@ A ﬁc&%aocﬁ
&ﬁ?&afwsaa

b) 3T 4 nou)mf:o @mrﬂ.@%
DTIe méaﬁ@ D ﬁewwocs
aﬁrmmmé

@a‘@aozm dc@d DRTNY d@m,oa’; &,
éoab%o&%o:b@

1) 340 we.
2) 400 we.
3).500 e,
4) 560 .
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Instructions to Candidates
1. The Question Booklet containing 50 'qUestion's and the OMR answer sheet is given to you.
_ 2. All questions are compulsory, -each question carries one mark.

3. During the examination,
* Read the questions carefully.

» Completely darken/shade the relevant oval against Question No. in the OMR answer sheet,
using blue/black bail point pen. Do not try to alter the entry and not do any stray marks on
OMR Sheet. ‘ _ o

« Ex: In a question paper if Sl. No. 3is borr'ect answer for Question No. 20, then darken OMR
answer sheet using blue/black ball point pen as follows.

200 D © @ @ (Thisis an example only)

4. If more than one oval is darkened for a given question, such answer is treated aswrongandno |
marks wifl be given. - ‘ : : .

5. Sheet for rough work are appéhded in the Question Booklet.

6. Candidate should return the OMR answer sheet only to the room sdpervisor_ before leaving the
examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside the
- examination hall. '
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| LANGUAGE COMPREHENSIVE TEST

questions-(1 -5):

Read the following Passage and answer the questions given below :

filed by me yesterday, unnerved me completely. “Was this the man who patted me on the-
shoulder only the other day for'covering the Prime Ministér’s visit to the state ?” — | asked

myself in vain. | wrote oyt my resignation and walked out of the office in a stupor. (1 05 words)

1. The boss stofmed_ into the rodm, raging because
1) the author Was working on the next issue of the morninger
2) he came to khow that the author had cbme léte
~3) the author had made some mistake

4) the author had not carried out his orders

2. The author left the office in a stupor becédSe
1) -he had not done any mistake
2) of the sudden display of temper by the boss
-3) he felt he had failed utterly in the task.

4) the bbss’s behavior towards him had‘-often.b'een harsh

3. The atthor thought that, the boss of the establishment was -

1) a man of perfection
2) a quarrelsome man
3) aman of scrupulous nature

4) an unpleasant personality
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) 4. From reading of the passage one can conclude that the author worked in
°1) an office cotlecting and disseminating information about Athe visits of ministers and
VIPs
) a pubhmty and pubhc relations office run by a ruhng pohtlcal party
) a public relation office run by a ruhng political party
4) a private company bringing out a weekly news magazine

5. The author was appreciated by the boss because
1) he walked out of the offﬂice in a stupor
2) he wrote his resignation and walked out
3) the Prime Min__ister had visited the State

¢ 4)' he had covered the news of Prime Minister’s visit to the State

Questlons (6 10)

~

Read the followmg passage and answer the questlons glven below

My W|fe daughter and | were travelhng in a rented car through Nottmgham England on our
way to a cousin’s home in the northern suburbs, | became thoroughly confused by the maze of
circular and one-way streets. Flnally, we spotted a policeman and pulled up to ask directions.
We were surprised when he removed his tall helmet, opened the back door and slid in beside
our daughter “It'll be much easier to show you”, he explained.

Off we went through a series of left and right turns, traffic lights and even a short jaunt up a one-
way lane the wrong way. Twenty minutes Iater we arnved at a main intersection. “Now you’ll
be all nght” ' announced our guide.’

“Just turn here; stay on the road for-eight or nine kilometers and you're there.” With that, he
opened the door; got out, replaced his helmet and strode briskly off. (153 words)

6. The writer was confused by

- 1) a network of circular roads
2) 'wrong direction by traffic cops
3) confusing road signals _
4) road map that he had with him
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7. The word ‘suburbs’ means ~
1) a remote village
2)- the city vcentre
¢ 3) residentiél area outside a town

4) an industrial town

8. The response of the policeman can be said tobe _
1) rude . .
- 2) Qreedy
- 3) imposing'.

+ 4) helpful

9. The ‘tone’ of harraﬁon in the paragraph is
1) euphoric R
2) ironic
3) satiric

4) ridiculous

10.'- ';he expre"s'sioh'-“‘du‘r guide” in the baragrqph:means
-1) poli.c;eman
2) cousin
3) passerby

4) professional guide

(411

A
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Questions (11 -15):

Read the following poem and answer the quéstions_ given below :

Breakfast
Of all the meals that glad my day
- My morning one’s the best;
Purveye‘d me on a silver tray,
Immaculately dressed.

I rouse me when the dawn is bright
I leap into the sea,

Réturning with a rare delight

To honey, toast and tea.

My appetite was razor edged

When | was in my prime;

To eggs_ahd bacon | was pledged...
“Alas 1 the March of Time

For now a genial old gent

With journal on my knee,

I sip and take with vast content
My honey, toast and tea:

So set me up for my delight

The harvest of the bee;
_B'rdwn,__crispy'to'ast With_ butter bright,
Ceylon —two cups or three

Let others lunch or dinner praise,
But | regale with glée,'-

As | regard with grateful gaze
Just honey, toast and tea.

11. For the poet the best meal is
1) dinner 2) breakfast

3) supper 4) lunch

6

RN
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12. Before taking his breakfast, the poet would
| co
1) swimin the sea
2) have a walk

3) have some routine exercises

4) run arace

13. His favourite breakfast in old age became
1) eggs and bacon
2) breéd and butter
3) honey, toast énd tea

4) roasted beans and coffee

14. In the poem, the word ‘regale’ méans
-1) scornful
2) doubtful
3) | delightful

-4) wreakful

15. | Eggs and bacon was his favourite breakfast in his
1) childhood |
2) prime time
3) old age.

4) last time
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Questions (16 - 17) :

16. The following has six sentences from a paragraph. The first and the last sentences

17.

are given. Choose the order in which the four sentences (P,Q,R,S) should appear to
complete the paragraph. .

S, The motor car is one of the useful blessings of modern science

L R L R S I T T T T LRy L E L L r L R

D R P R R P P e T L I I e

S; However, in the modern age economic cnsns a personal car is an expensive

blessing.

: One of these is the pollution it creates.

O

Q: It has made short and medium dlstance Journeys quite convenient and
comfortable.

R: The other is that car journey is quite hazardous.
S: Yes, the blessing of the motor car is not without disadvantages.
1) QPRS ~ 2) SPRQ ~  3) SPQR ~ 4) QSPR

The followmg has six sentences from a paragraph. The first and the last sentences
are given. Choose the order in which the four sentences (P,Q,R S) should appear to

~ complete the paragraph.

ORI IR IR
PN

o)

S On ‘entering the hut Jim Corbett first picked Kunwar Singh up and laid h|m ona
string bed

N

w

R L R R R P

[4))

R e e e R PR TR

Jim Corbett then asked Kunwar Slngh s eldest son to warm two glass of fresh milk
and bnng it to him as soon as possible.

This eased the situation inside the room and the fresh air from the Jungle
revived Kunwar. :

: He then threw open the only window of the room to let fresh air in.
: His breathing became less laboured and more regular.

o

f{)IDD

He then sent the_mourners, and the priest away too.
1) QSRP .  2) PRQS 3) SPQR 4) QPRS

8
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| Questions (18-19):

In'th_e following questions the second sentence is miSsing. Choose the appropriate
sentence from the given options to complete it.

18. A) The mail is first collected from different letter boxes.

C) The sorted mail is then sent to the zonal post office.
1) Then'it is delivered to us. |

2). The rhail_ is again sorted out at the sorting office.

3) ltis th‘pn sérted out at the sorting office.

4) Fromthere it is sent to the head post office.

19. A) He took two cigarettes from my case and it one of them.

C) But when the ﬁt obeUghing was o_vér, he replaced it between his tipé.
1) Then with a feeble hand he removed the cigarette.
2) He lit one of them and placed it ‘between»‘t'he lips.
3) Slowly he took a pull at it and coughéd violently.

4) Then he continued to draw on it.

Questions (20 - 27) :
Choose the word Which best fills the blank from the four options given.

20. The interior of the concert hall is to the eye.
1) déoo_rative |
2) veritable
3) én.tricate
4)

Ccriss cross
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21. The reward is a

1) momento

22,

23.

24.

25.
- could find.

2) memorial
3) recognition

4) witness

A light girl

1) groped |

2) grappled
3) gripped
4) grovelle'd"

A man 7

1) claimed
2) boasted
3) confessed

4) predicted

Heis so
1) meticulous
2) Casual |
3) nasty
4) deliberate

R RN LR R

of her service tc mankind.

_for the electric light switch in the dark.

that he was guilty when he was pardoned.

in his approach that not a single point ever escapes his attention.

They fired upon the enemy from behind trees, walls and other _ point they

1) Ventage
2) Vintage
3) Vantage

4) Vintige

10
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26. The officers responsible forthe coup were punished.

1) accolade
.2) Progressive
3) radical

4) abortive

27. Although | was of hIS pians, | encouraged him, because there was no one
else who was wrllmg to help

1) skeptical
2) remorseful
3) fearful

4) enciated

Questions (28 - 37) :

In the followmg passage there are some numbered blanks. Fill in the blanks by selecting
the most appropriate word for each blank from the glven options :

Earthquakes occur (Q. 28) : and cause considerable loss of life. They are
Q. 29) preceded by atmospheric changes which Q. 30) the
intellectual faculties of human beings. They create excitement and encourage men to
become superstm‘ons In Peru, where earthquakes are common, the people are stricken
(Q. 31) fear anxrety and helplessness and ascribe everything (Q. 32) __
superhuman power In Europe the people -of ltaly, ‘Spain and Portugal are more
superstitions. It is in these countnes that clergy has firmly established (Q. 33)-

hold. Further, ltaly and Spain- have produced the greatest palnters and sculptors because
these fine arts (Q. 34) __moreto imagination than to rntellect These countnes have
(Q. 35) produced men of scrence but their number is (Q. 36) ————— comparison
to that of artists and poets. The reasomng faculties of the people of there countries have
been weakened, Wthh will be (Q. 37) from the fact that hardly any name of the

highést merit is found in the field of natural sciences.

28. 1) Naturally 2) Suddenly ' 3) Expectedly 4) Slowly
29. 1) inevitably 2) surely 3) usually 4) always

11
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'30. 1) effect 2) affect
31 1) with‘. 2) of
32, _1) on 2) by
33. .1) its 2) it's
A34. 1) pertain 2) relate
35. 1) hai'dly’ ‘2).rar_ely
36. 1) less | 2) srhaH

37. 1) evident 2) explained

Questions (38 —~40) :

3) influence

- 3) to

3) with
'é),t’heir
.3) appeal

'3) strongly

3) insignificant

3). emphasize_d

O

4) damage

4) the‘
4) concern
4) no doubt

4) immaterial

'4) understood

Choose the appropriate;phrasal verbs'to complete the sentences.

38. The Minister had to.
1) fendinto
2) fend at
- 3) fend out
4) fend off

39. He never
1)‘got by
2) gotover
3) got.rid
4) got aside

40. | tried to convince her but | _
1) gave in
2) gave out
3) gave back

4) gave away

the loss of his pet.

_later.

some awkward questions'by the reporters.
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Questions (41 -43) :

Select the meaning of the underlined phrases/idioms.

" 41. You must keep vour head whatever happens

1 be self- respectmg

)
2) remain'calm

3) be honest
)

4) concentrate

42. Our principle is not a man to mince matters.

1) to confuse issues -
2) to say somethmg mlldly‘
3) :to mix everythmg together

).
4) to be very modest

43. Don 1 worry about the snlly row. It was ]ust a storm in a tea cup.

| 1) Important matter dealt with ease
2) Hot tea being served
3) Commotion over a trival rhatter

4) Confusion and chaos

Questions (44 - 48) :

Select the most appropriate option to fill in the blanks from the given alternatives :

44. Her nature will help her realizing the object of her desire.
1) perse\)ering
2) recedihg
3) blaming
4) fascineting

13
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45. His employer had all along been kind to .him,‘so he by being loyal to him.
1) reprimanded
| 2) retaliated B
3) remained

4) reciprocated

46. He always gives excuses for his absence from the office.
1) robust
2) flimsy

3) sturdy

4) lame

47. Thé he_ip_fu'l on looker was badly injured when hetriedto _____to end the quarrel.
1) intimidate
2) inter vein
9 3) intefvene"
4) ‘in_trude :
48. Mo'st: of th_é .macvhines in this factory are , 80 they are inefficient. |
«1) 6bso-leté__':
2) absolute
3) modern
4) new |

14
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Questions (49 - 50) :
Select the word which means the opposite of the underlined word.

49. The injection was given to the patient to alleviate the pain.
1) elevate
2)'. sharpen
3)_‘ aggravate

4) promote

50. His radical views made him unpopular.

1) conservative
2) open — minded
3) childish

4) fundamentai

15
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| '[ PHYSICS

1. The veiocity-time graph which represents a
body is moving with zero-acceleration is

S
+ .
v
1)
) - -
1
t
v
2)
0 t— g
,/F
t
v ——
3)
0T >
N
+
. v
4)
0 1> -

2. A 100 meteriong train moving with constant
speed of 90 knmvh crosses a tunnel of 300 meter
long. The time taken by the train to cross the
tunnel completely is

i} 16 seconds 2) 8 seconds

3) 4 seconds 4) 2 seconds

AT

' zﬁaa’sag ‘

1. Lo o siraags aﬁcﬂméﬁrﬁoﬁ BO Ao,
TR, Beri(v) - 2O(t) B3 0bO BIADYLTmed
oe3

F
1
Sert
1)
o —>
U
A
T
e
2)
0 ->
T —
F 3
T
Sen > >
3)
0 T 7
A
4
Jerl
4)
0 RO -

2. 100 ooeesos T I T womh Bjomi ot
0 &.2ve./riotd Y wHDon w2 300 Sperios
PO 2.0 Hdord eoi T Beerd3d.
3eorridads ToUon=, mcogined ﬁommrgén
Tt HEacrer e @ﬁdzé@#%aﬁ 2O

1) 16 FEcEanish 2} 8 Zdomrigh
3) 4 BFony: 4) 2 Ao



SAT(K-10)

3. Assertion (A) : In an household electricai

circuit fuse is a safety device and is
connected in series.

" Reason (R) Electrical fuse is prepared by

the material having very high melting point.
Soit can allow very high voltage/current in
the household electrical circuit.
Considering the above .

1) Both A and R are true and H is the correct
explanationto A

2) Both A and R are true but R is not the correct
explanationto A

-3) Alis true but R is false
4} Ais false but R is trie-

. Out of the following the best safety measure
against lightning strikes is

1) Stand on the terrace of a building

2) Take sheiter under a tree
*3) Runacross an open high ground

4) Take sheller inside a metal box

5. Consider the following statements

a. The efficiency of Carnot's engine is 1 00%.

b. Spark plug present in both petrol and
©  diesel engines.

c. ‘Carburetter is used to mix air and petrol
in proper proportion.

d. Fuel injection pump is present in dlesel
‘engines.

e. Piston converts linear motton into
rotational motion.

The correct statements are
1) b,cande’ 2) a,candd
.3} c,dande” .4) a,bandd

6. Astudenthas been_givén aproject to prepare
an astronomical telescope, she has to select

twb lenses of type

1) Concave lenses of different focal length
2} Concave lenses of same focal length
3} Convex lenses of ditferent focal length

4) Convex lenses of same focal length
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7. Mirages are formed due to the natural
phenomena
a. Earth’s terrestrial heating
t. Reflection of light
¢. Refraction of light
d. Diffraction of light
e. Totalinternal reflection of fight
1) a,cande

2) a,bandd

3) b,candd 4) c,dande

8. A pendulum is moving in a periodic motion
with period T. If its length is increased by

4 times, then its period

1) Increases by 4 tirﬁes

¢ 2) Increases by 2 times
3) Decreases by 4 times

4} Decreases by 2 times

9. ifthe distance between two bodies is reduced
to half of its initial value, then the gravitational

force between them is
1) Be_duces‘ivo half of its initial value
2 Incr;easeé by..-tl firﬁes of its initial value
3) Increases by2 times of its initial value
| 4) Decreases by4 times of its initial vaue
10. The evidence cned by the scientists for the
contlnued expansion of universe is
1) Movement of asteroids in space
2} Occurrence of supernova explosionin spacé
3) Ob_sen.ration of red-shift phenomena in space

4) Appearance of flying saucers
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1, @
2 = - R
0 | , -
Displacement! :
(meters) : >
05 19 156 2.5 3.0
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27 R,
3
v

This diagram represents displacement-

_ distance graph of a wave travelling ‘in a
straight line. The Iamplitude and wavelength
of this wave in respectively are

1} 2meterand 1 meter
2). 1 meterand 2 meter
3) 1 meterand 1 meter

4) 2 meter and 2meter

12. After firing a bullet of mass 8 g, itis moved
with a velocity of 4 ms'. The kinetic energy

gained by this bullet is
1) 64 Joule

2) 6.4 Joule

3} 0.64 Joule

4) 0.064 Joule

13. The stages of evolution of sun like sfars in

proper orderis

1) Protostar-Steady state-Red giant-Plarietary

nebula-White dwarf _
2) Protostar-Red giant-Steady state-White

dwarf-Planetary nebula

3) Protostar-Planetary nebula-Red giant-Steady

state-White dwarf

4) Protostar-Steady state-Red giant-White

dwarf-Planetary nebula
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14,

15.

16.

- a. Green

CHEMISTRY

Elements belonging to different groups of the
periodic table are given below. If the element
X forms a Chloride whose formula is ‘XC1,
then such ‘X’ belongs to the group whose
representative element is ’
1} Al
3) Mg

2) Na
4) Si

The following colours produced by the
universal indicator paper at pH values are
arranged in its ascending order. The correct
option is

b. Darkred

c. Dark purple d. Greenish blue
e. Orange red

Hb e a d ¢
2Jd ¢ a e b
3Jb e ¢ a d
4c d e a b

The chemical }eactions and its corresponding

observable features are matched below. The

correct optionis

a. Change in temperature i Magnesium reacting

b. Evelution of a gas i

c. Formation of a iii,

with dilute sulphuric
acid

Potassium iodide
reacling with lead

nitrate

Sulphurdioxide gas

precipitate reacting with acidifie:d
' potassium dichromate
solution -
_d. Change in Colour iv. Zinc granules reacting
with ditute sulphuric
acid -
1.) a — iii, b-iv, c¢-i, d—ii
2) a- b—i, C - tgl—iii
3) a-i, b —iv, C— it d—ii
4) a-— b-ii, c-ii d—i

i4.

15

16.

a vogBody

b.

C

d.

; ﬂdssﬁwe}aé iii.
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SAT(K-10)

- 17, Observe the following chemical equation and
the related Analogy. The correct aiternative
that suits the analogy is

H,S + Cl, > S+ 2HCI

Substance reduced : oiidising agént HH _‘____ :CL,.
1) HOt | &iHs
3) S 4) CI2,

.18. Identify the trend of elements along a group
of a periodic table shown below.

A. The elechoéositive character of elements
decreases. '

B. Theelectronegative character of elements
mcreases

1} Als false and B is'false
2} Alistrue and B'is false
3) Aistrue and B is true
4) Ais false and B is true

19. Assertion (A): The flowers of Hydrangea plant
turns to pink in the presence of petassium
hydroxide.

Reason (R) : The flowers of Hydrangea plant
are usually pink which turn blue in the
presence of a base.

1) Alsincorrect and R is correct

2} Both Aand R are correctand R is the correct
explanation of A

3) ‘Alis correct and R is incorrect

4) Both AandRareincorrect

20. The sotution in which an immersed
glass exhibits apparent disappearance is a

‘mixture of
1). Hydrogen fluoride and Acetic acid’
2} Hydrofluoric acid and Sulphuric acid
3) Con. HC! and HNO jinthe ratio of 3 1°

4} Acetone and Chloroform in suitable

-proportion

19. BT (A)  Zatmacho Q%CREQG‘ id‘
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21. The following substances are atranged in the

increasing order of their pH values. The
correct option is
a. Tomato juice

b. Tooth paste

c. Saliva (after meals)

d. Coffee

e. Blood

'b ¢ e a d

2b- e ¢ d a
"3b a ¢ e d
‘ 4bh d e ¢ a

22. The law that explains the death of deep sea
fishes when suddenly brought to surface is
A. Charle’s law
B. Graham’s law.
1) Onily A
2} OnyB
3) Both A and B
4) NeitherAnorB

23. Steps of an activity for boiling underreduced

pressure are jumbled below. Correctly

arranged option is

a. Cool the flask over running water from a

tap carefuily-
b. Waterinside the flask starts boiling again.
¢. Take-acup of water in a conical flask.
d. Gases in the flask are removed from the
steam produced.
e. Boil the water without closing its mouth
for 3 minutes.

f. Close the flask with a rubber cork.

fJc a e b f d
2c e d f a b
33a ¢ e | bh d
4 e d c b a f

O O O
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24. Assertion (A) : In the manufacturing of
. tommon sugar, the syrup obtained does not

have any colours.

Reason (R): Coconut shell charcoal is used
to give colour to the syrup.

1) Bolh Aand R are incorrect

2) Als correct ar.?d Ris incorrect
_ 3} Both A and R are correct

4) Alisincorrect and R is correct .

25. Silicon compound that is used as an abrasive

for cutting and grinding glass is
1) Sodium silicate
2} Aluminium silicate
3) Silicon carbide
4} Sodiumloxide
*26.- The correct option about the following
~ statementis
A. Galliﬁm §heets are used more than
Gallium wires.
B. Gallliq.m exhibits ductility property but not
the malleability.
i) Aand.B are true
2} AandB are false’
3} Aistrue and B is false

4) Alisialse and Bis'true

10
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BIOLOGY

27. No urination due to shortag_e of water in the

~ body is a typical symptom of this disease

1} Typhoid
3) Dengue

2) Malaria
4) Cholera

28. Match Column - [ and Cotumn ~ {l and identify

the correct answer :

Column — |

A. Thrombocytes L.

B. Neutrophils H.
C. Erythrocytes .
D. Lymphocyteé .
o V.
1) A-Hl, B-V,
2) AU, B-iv,
3 A-v, B-IN,
H AV, B-I

Column =~ il.

Phagocytosis

Releases chemicals
Produces antibodies

Clotting of blood

Supply of oxygen
C-1l, b-1
Cc-1 D-u
C-Iv, D=1
cC-V, D-1

29. Study the diagram befow and seiect the

cﬁrre_ct labetlling.

1) A} Epidermal cells
C) Guardcell -~
2} A) Guardceli .
C) Epidermal celis
-3} A) Stoma
C) Chioroptast
4} A) Chloroptast
C) Epidermal cells

B) Stoma _
D) Chioroplast -~
B) Stoma

D) Chioroplast

B) Epidermalcelis
D) Guard cell

B) Sloma

D) Guardcell

11
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. 30. The blood vessel that begins and ends in

31.

32.

capillaries
1) Renalvein
2) Renalartery

3) Hepatic artery

4) Hepatic ponal vein

Assertion (A) : The sympathetic nervous
system prepares the body te meet any

emergency situation.

Reason (R} : The sympathetié nervous system

is stimulated by the hormone oxytocin during

emergency situation.

Select the correct dpti_c.n from the given

alternatives. |

1) Both'A’and ‘R’ are true and ‘R’ explains e

2) Both ‘A’ and ‘R’ are true but ‘R’ doesn't
explain ‘A’ |

3) ‘Aistrue and ‘R'is flarse

4) 'A’is faise and 'R’ is true

Which of the followirig statements are correct ?
A. Tapeworms are hermaphrodites and
undergo self fertilization. -
B. Earthworms are hermabh'rodites and
undergo self fertilization.
C. Tapeworms are hermaphrodites but
undergo cross fertilization.
D. Earthworms are hermaphrodites but
undergo cross fertilization.
i) ‘A’ and 'B’ only 2) ‘A’and ‘D’ only

3) 'B'and 'C only 4) *C’ and ‘D’ only
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33. The rate of transpiration in plants is high in
the following situation :
1). Cool, humid and windy
2) Hot, humid and dry
‘3) Hot, dry and windy
4) Hot, humid and windy

34, Suppose a person wears a convex lenses for
proper vision, where does the image of the
object formed in his/her eye when he/she not
using it ?

1) Behind the retina

2) On the yellow spot

3) In front of the retina

4) On the blind spot

35. It is considered as a living fossil and

connecting iink between annelids and

arthropods
1) Lung fish 2) Peripatus
3} Platypus 4) Echidna

36. Read the following statements
A. Itforms a thick, tough barrier and protects.
the underlying tlssues in the skin,

. Whenitis presentin sense organs contain

receptor cells.

It also helps in absorption of nutrients.

secretion.

Which one of the following represent the -

rébove mentioned characteristics ?
1) Epithelial tissue

2) Connective tissue

3) Muscular tissue

4) Nervetissue

When it is present in glands helps in .

(VTR RSt
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37. Cdlou_f blindness is more common in men
than in women dl.:le to J
1) Dominant genes of such traits are found on
Y chromosomlle
2) Dominant geneés of such traits are found on

X chromosomle

3) Recessive genes of such raits which occur

on the X’ chror'posome

4) Recessive genes of such traits which occur

on the "Y".chromosome

38. The crop that would require minimum
quantity of urea of NPK for its growth
- 1) Blackgram |
2) Paddy
3) Sugarcane

4} Groundnut

39. Read the foflowing statements and select the

correct option.

A. Wind poltinating flowers need to produce

more quantlty of pollen grains

B. Seeds from cross pollinated flowers

- produce weaker and less healthy plants

1} ‘A’ is false ‘B’ is true
2)‘ ‘A’ is true ‘B’ is false
3) Both ‘A’ and ‘B’ are true

4) Neither'A’ nor ‘B’ are true

40. Protein catalysts of chemical reactions in

biological system
. 1) Hormones |
2) Vitamins
3) Enzymes

4) Both hormones and enzymes
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HISTORY & BYUSINESS STUDIES

During the Mid 18" C

41. The British Victory in the Battle of Plassey
implied '
1) Mir Kasim became the Nawab of Bengal
2) Robert Clive introduced the dual government

. 3) Foundation of the British.empire in India had
been laid

. 4) All Indian rulers édopted modern British
military strategies in later wars

2. Find out the correct statement/s with
reference to Anglo-Mysore wars

a. Haider Ali crowned himself as the ruter of
Mysore.

b. Tippu rejected the subsidiary alliance of
the British,
c. Rockets (missiles) were extensively used
by Tippu and Haider. '
d. TheMarathas and the Nizam of Hyderabad
. supported Haider and Tippu in the wars.
1) a, ¢, and d only 2) band c only._

3) aanddonly 4) b, c and d only

43. Choose the correct sequence to indicate the

following statements as True (T) or False (F)

During the Middle of 19t C
a. Indian handicraft products lost markets
outside India.
b. Industrial capitalism made India .rich.

c. Feudal system in indian agriculture was
encouraged under trade capitatism.

d. Largecities and towns sprang up in india
1) FT.1.F, 2) TETF.
3) T.T.F.F. 4) T.F.F.T.
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44, Match the following :

o
A. Samvad Kaumudi i. Swami

Vivekananda

B. Satyartha Prakash ii. Mrs. Annie
. Besant
C. Ghulamgiri iii. Rajaram Mohan
D Roy’ |
D. New India iv. Dayanand
Saraswathi
v. Jyothiba Phule
1) A-ii, Beiv, C-v. D-i
2 A-ii, Biii. C-iv, D-v
3 A-iv, B=v, C~i,  D—ii
4 A-v, B=i . C-ii, D-iv

45. Find out the incorrect statement about
consequences of | War of Indian
Independence.

1) Rule of the East'India Company ended

2) India'came under the direct rule of the British
Government

3) The Doctrine of Lapse was retained

4) Queen Victoria isstied a Proclamation

46. In the early 20"C.

Assertion (A): Indian handioom industry
|
made a steady progress. N
Reason(R) : Thes'e_industries_usedflying
_ sh_uttle'in the weavirig process.
1) ‘A’ is true but ‘R’ is false
2) ‘R’ is true but ‘A’ is false
3) Both'A’and ‘R’ aretrue and 'R’ isthe correci
explanation of ‘A’
4} Both 'A’ and 'R’ are true but ‘R’ is not the

cairect explanation of *A’
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47. Arrange the following events in chronological
- order. '
~ a. Arrival of Simon Commission
b. Celebration of Poorna Swaraj
c. Kheda Satyagraha
d. Withdrawal of Partition of Bengal
. 1) adbc 2) d,c.a,b
3) b,c da 4) acdb

48. Which 6f the foliowing statement/ is/are true
regarding the LN.A. and S.C. Bose ?

a. S.C. Bose took over the leadership of the
LN.A. in Tokyo

b. The L.N.A. captured Mowdak {near
Ch|ttagong) during its military operations
against the British

. ¢, .Provisionai Government of Free india
was setup in Singapore in 1943

d. The British Government tried and

.punished the captured officers of the -

LN.A.
1).a,b and d are correct
2} bandd are correct
3) bandc are correct
4) aand b are correct

49. Arrange the shaded regions shown on the

map of tndia in chronological order of their

merger with the Indian Union.

.2_\(;2

1L HL IV
3y WL IV

2) 1L v
4 v, 100 |
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50. Assertion(A): The East and the West
Germanys were reunited in 1990.
Reason (R)
Collapsed in the U.S.S.R. in 1991.

1) Both ‘A’ and ‘R’ are correct and 'R’ is the

correct explanation of ‘A’
2) Both ‘A’ and ‘R’ are correct but 'R’ is not the
correct explanation of ‘A’ |
3) ‘A’is true but ‘R’ is false
4) ‘R'is true but ‘A" is false

*91. Match items in Column - I with appropriate
items in Column — i by selecting the correct
code, given below :

| l
a. The League of Nations i. Mao—Tse.LTung
b. 5 YearPfans ii. Woodrow Wiison

¢. Perestroika iii. Joseph Stalin
d. Cultural Revolution iv. Benito
Mussolini

v. Gorbachev

) a-i di

b —iii C—v,
2) a-—ii, b—iv, ¢ —ii, d-v
3 a-ii, b-iv € — iii, d—i
b-i,  c-ii, d-v

4 a—iv,

52. Which of the following statement/s isfare

correct, regarding functions of banks ?

a. Foreign exchange transactions are
conducted

b. Only private business transactlons are
carried out

c. Theyformulate common monetary policy
for all banks

d. They provide safe depositiockers

: Communist vaérnment_'

1) a,candd
3) aandd

2) bandc
4) b,candd
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53. Regarding Life Insurance

~ Assertion (A): The premium is paid in

- lumpsum, at the time of purchasing the policy, .

by an employee.

Reason (R) : It provides tax-relief benefits
forthe policy holder.

1} ‘A’ is true but ‘R’ is false

2) ‘A'is false but 'R’ is true

3) Both "A” and ‘R’ are correct, but ‘R’ is not -

the correct explanation of ‘A’

4} Both 'A’ and 'R’ are correct and" ‘R is the
correct explanation of ‘A’

54. Examine the following statements and select
the correct option :

A. An entrepreneur’s main objective is to
provide service to the public

B. There is no risk of loss, since his

business is proiect,ed by the Government

‘A’ is {alse, ‘B’ is true

—
N

‘Alis true, _‘B’ is false

Both ‘A’ and 'B’ are true

B2 @

Neither ‘A’ nor ‘B is true

55. In the wake of globélisatibh ;

Assertion (A) : There is a éteady rise in
unemployment, in the develc:ped countries
like the U.S.A. '
Reason (R): out sourcing of employees fr_om

" the developing countries h'élps the MNC’s in
maximising the profi.
f ) ‘A" and 'R’ are true, and ‘R’ is the.correct
~ explanation of ‘A’ '
2} 'A'and ‘R’ are correct but ‘R’ is not the correct

expianation of ‘A’

3) ‘A’ istrue but ‘R’ is false
4} ‘R’ is true bul ‘A’ is false
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GEOGRAPHY AND SOCIOLOGY

56. The Indus River lows between the ranges of -

1) Pir Panjal and Mussorie
2): Ladakh and Zaskar
3} PirPanjal and Zaskar

)
4) Ladakh and Mussorie

57. Match List — | (States) with List - i (Caused
for land degradation). Select the correct

answer using the codes given below :

List—{
(States)

List —1i
(Caused for land

degradation)

A. Jharkhand and i. Over

Chhattisgarh grazing

B. Guijarat and Rajasthan ii. Floods

C. Punjab and Haryana iii. Mining
D. Assam and iv. Over
Arunachal Pradesh ~ irrigation
1 A—iii, B-i C—iv, D —ii
% A-iv, Bi-i C-ii,  D-i
3 A-i. B-ii,  C-iv, D-ii
S d4) A—ii, Bie—iv, C-i,  D—ii

58. One of the follom:ring is the correct order of
major irrigation projects in India from North
to South ' '

1) Rihind, Kosi,Hirakud, DVC
2) Kosi, Rihind, DVC, Hirakud
3) Hirakud, DVC. ﬁihind. Kosi
4) DVC, Kosi, Hirakud, Rihind
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59. Uttar Pradesh stands first in the producnon
of wheat because :

i. treceives less than 50 cm of Rainfall.

ii. Ithas well drained plain area and fertile

altuvial soil.
iii. Ithas 20°C—32°C of temperature.

iv. Ithas excellent canal irrigation system.

Select appropriate statements.
1) i, ti and @i R

2) i, iiiand iv
4) i, iiandiv
60. Identify the descending ordef‘ot Land Use
Pattern in India in the year 2007
A. Forestarea
‘B. Netsown area
. Area under non-agricultural use

c
"D. Barren and waste land
1) B,C,AandD

2) B,A, Cand D
) B,A,DandC
) B,D,AandC

61. identify the correct matching pairs:
A. Siderite - {ronore

B. Pyrolusite — Bauxite

C. Biotite - Manganese
D. Lignite - Coal, . '
1) Aand B 2) BandD
3) Aand D 4) AandC

62. Connecting of Delhi, Mumbai, Chennal and
Kolkata by 6 lane golden quadriliateral

highway started in 1999 by
1) NHDP 2)  NHAI

3) CADP 4) CPWD

TR g
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632, Match the|nternational Airports on the map
of iIndia (i, ii, iii, iv) with their respective
names:

A. Raja Sansi International Airport
B. Anna Illnternational Airport.
C. Subhashchandra Bose International

Airport
D. Rajeevl. Gandhi Internat_ionai Airport
1) A-i, B-ii, C-iv, D-ii
2) A-iii, B-ii, -C-i, D-i
3} A-iv, B-iii, C-i, D-i
4 A—ii, B-iv,

C-i,  D-ii

64. identify the correct set of major ports along
the East Coast of India

1) Ennore, |Péradeep, Tuticorin, Haldia

2) Ennore, Vishakapatnam, Tuticorin, Kandla
3_) Chennai, £nnore, Marmagao, Kochi

4) Ennore, ’Tutfco_n'n, Kochi, Haldia

65. Three iron and steel’ plants at Kulti, Hirapur
X -and Burnpur were merged together and are
now known as

1) VISCO 2y
3) BISCO

1SCO
4) "DISCO

66. information régarding the Earth Surface is
collected by

1) Global Information System
2) Geographical Positioning System
3) AdvancediTechnology

4} Remote Sensing Techriology
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67. Name the Constituticnal Section which
prohibits the practice of untouchability i.e.,
Untouchability Crime Act {1955)

1) Section~17 2} Section—12
3) Section-18 4) Section-19

68. Read the statements and identify the correct
answer:

i. Specialization developing in every field.
ii. Industries have grown in number.
ili. Expansion of Trade and Commerce.

iv. Invest money and gaining a lot of prafit,

These are leads to:
1) Division of Labour
2) Discrimination in Labour -
3) Formation of Strata in Society
4} Division of Class

69. Read the statements and identify the correct
answer :

i. Sometimes it leads to laige scale loss
of property and lives.

ii. It become serious challenges for law
. and order.

ili. Itdo not continue for a iong time.

iv. Communal and group clashes are some
examples of it.

1) Mobs

2) Riots

3} Collective behaviour and movefnents
‘4) Revolution

70. *‘Self awareness, self motivation and mutual

trust to fulfil the economic and social

necessities by efforts and co-operation’ - This
statement refers to

1) Micro-finance activity
2) Women’s self help grciups
3) Women right opportunity

)

4) Representation in developimeantai projects
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POLITICAL SCIENCE AND ECONOMICS

71. Match the List~ ‘A’ (Concepts) with List— ‘B’
(DescriptitlanS) and select thé correct matched

codes giwlan below.

List—- ‘B

List+°A’
(Concépts) {ﬁescriptions)
A. Secular ~.i. Equal distribution of
.National Income
B. Sociaiist ii. TheHead of the State

elected by people

C. Sovereignty iii. Cbuntryfree from

internal and external -

forces

D. Republic - iv. Follow any religion
of people’s choice

Codes: ,

1) A=ii,  B-iv, C—i, D-ii

2) A-iv, B—i, C—iii, D-ii

3) A-iil, B—iv, G~ii. D—i

4) A—iv, D —iii

B-i, C-ii,
72. Which of-'t'he_ following are associated with
UNQ ?

a. Franklin D. Roosevelt

b. Veto Power |

c. Common Market System

d. Military :Auiance o

e. New Yo;rk City

{. British Supremacy

Choices:
Y adf 2) bce
3) a, b,e 4) c, d,f

24

T

DTN D) OPrTex
S - 2 ]

71. @Y - ATRY (FO5Rnt) T Tey - ‘B o)
Y (DFVR) RedTy, wRRED, Brodid
TO0IRT odohd, rHThaa.

w&s\% — iAl
(Bodon)

A. =5.3038

D. r{rawz:é

woﬂﬁﬁl:#a :
1} A—ii
2) A- iy,
3) A iii
4 A-~iv,.

ifi.

B-iv
B

B—iv
B-i,

i, C-—ii

x% — ‘B’
(DzoEne)

. ca%co:b’ EtnrTevated
paul

nEnd Boud

C—i, D-ii
C—ii, D—ii
. CZii, D-i
D - iii

72. g 3INIYNYO o DYHOIR Xowonzd 7

a. WO B. ST,

b. Jdre 2QTT

¢. MERF, Teth3e
o

d. codud Lﬁ!%és

e. Ri.razsom#? lyfe]

ViV
R

£ Qe marrPend
)

e.-:cS%rifé:- :

1} a, d, §
3) a,b, e



SAT(K-10)

73. Choose the correct sequence to indicate the
following statements as True (T) or False (F).

A. Incase of Money Biils, the Rajya Sabha
has virtually no powers.

B. The Ministers are in'dividually
responsible to the President not
collectively to the House of the People.

C. The President of india doesn’t have any -

power to withdraw the ordinance at any
time after once promulgate it.

Choices :
1) TFF .
2) Fﬁ
3 TFY
4) FTF

74. List-"A’is the list of ‘problems’, List—'B'is
the list of ‘Reasons’ and List - ‘C’ is the list
of ‘Remedies’.

List - ‘A’ List - ‘B’ List - ‘G
{Probiems) (Reasons) {Remedlés)
drawbacks in |, verlfication

a. Communatism e,

bureaucracy . of price index
-b. Corruptiop f. White collor |, qubal _'
' jobs .
c. Economic " g. Hoarding k. aniform
inequality civil code .
d. Profiteering Ch Interests of 1. Seclal
religious Securities .
groups

Which one of the following correctly matched
set ?

1) afl, bhj,. cqgi, dek
2} ahj, bfk, cel, dgi
3) ahk, bej, cfl, dgi
4) ahi, bgi, cfk, del
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75. Readthe followmg
. {tis not aligned to any power blocs

B. It retains the freedom to take

independe:nt foreign policy.

C. ltjudges an issue on merit.

. itis opposed to military alliances.

Which of the followmg represents the above
characteristics ?

1} Disarmament
2) Opposition to the policy colonialism
3) Coldwar
4} Non-alignment
76.  Assertion (A) : Deficit finance is indicated
by the negative sign (~).
Reason (R) : In general the expenditure of

I,
. the government is :ncreasmg more than its

.revenue.
1} ‘A’and ‘R’ are True and ‘R’ is the correct
explanation of ‘A’
2} ‘A’and ‘R’ are True but ‘R’ is not the carrect
explanation of ‘A’
3) ‘A’is True but ‘R’ is False
4} 'R'is True but ‘A’ is False

77. The course of evolution ot money is dépicied
in the following flow diagram. Identify the

correct sequence.

1> 2|

a. Copper Coins
b. Credit Cards

c. Commadities
d. Cheques

1) 1a, 2b, 3c, 4d
2) 1d, 2¢. 3b, 4a
3) 1b, 2d, 3a, ac
4) 1c, 2a, 3d, 4b
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DT

75. 8 FNERRYRDL, LO.

A, wth olmdde 3¢ urattra Zeoohioend.
B. 3 _1’303 adc:mor{ aeéopmd ea‘nﬁaﬁw
*330:3 Redd.
C. as*umri%fa’o mmsssosa Uyedy Dhed
w?aoeéaﬁogd
D. »Owd Eetins UK o PAL¥t atartita
& VNS sz wosy) hedd oozﬁéa‘b
| 3R 7 .
1) 27 »Jeﬁdm

ety i

3) bcde Mand
4) 00T Ded

2 VJ?TSCDWEDJDJ DB Ved

76. T3 (A): dnddch Srowend, e ud,
(=) DY OTEZRHIT,
ma‘baa‘_bmﬁ P R el efmob%oss

d dagri@a WBY BLRNDI.

negrs (R) :

I} ‘A2 R 20de 10 @3 RA S
#003mT DFdRECING |

2) ‘NI R 20@e =0 sTd RA S
,o«)cfmd c".):a‘da—a‘o&aﬁo

3) 'A'XD ©ot R

4) ‘R'5D e300 éa"g;

77. EBeey Owd BrodT q—o‘oa’ﬁva’nd' =3 YN O
UGHY DTN, Hoabes BIrdab, hThdz.

1T 2

a. 33;1: o) n’@a

2b, 3c, 4d
2¢, 3b, 4a
2d, 3a, 4c
2a, 3d, 4b
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78. Income sources of Central Government are
given below.
a. Internal and Foreign Loans

b. Coins and Mints

c. Disinvestment

Which of the above source/sources isfare the
Capital Receipts of Central Government ?

- 1) aonly
2} bonly
3) ‘aandconly

4} aandbonly.

Answer the Question No. 79 and 80 based on
following table. '

Country | Totai National Population
. Income
Male | Female
p 10800 635 | 465
Q 10450 575 | 375
R 9000 380 | 220
S 10400 285 | 515

79. The country which has high per capita
income is
NP
3) R

2y Q
4 S

80. identify the correct chronological order of
" nations which has tow ber cabifa income to
high per capita income '
1) PRQS
2) SQRP
3} RSPQ
4) QPSR

0 L

78. 3t0Q ¥RFOE BmART heonvd, B d9R
NCBTNTS.

‘a. 50303 SHH Aed TWOTE
b. morazidh a.‘os:)p LoTRS-
c. BRA%0DH Lo3RZ

B DcORPYRYY BRYo/c3RHsY 3607,
BEorod woRmed BmRobhd Shevmend ?

1) a S»g

2) b 323

3) a SR ¢ TWY

4) a 3 bR -

¥ 29N Beeagpa, U0l T3, %0857 Y
803, 4vZ0A.

oe3 L 23 ca%coi: asamoasﬂ .
 smeod

now | I

€@

P 10800 - 635 | 465

Q 10450 575 | 375

R 9000 380 220

S 10400 285 | 515

79. ©3 éai& Smmobdab& 2RO m%

Y .P
3) R

2) Q
4s

80. ¥@ED JRTROHOOT B ITROL RRONTH
CogY ROIRT WHBRTR, THSHI2.
1) PRQS
2) SQRP

© 3) RSPQ
4) QPSR
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MATHEMATICS

81. The variance of 20 observation is 5. If each
observation is multiplied by 2, then new
variance of the resulting observations is

1) 7 2010 320 4 40

82. The polynomials (x® - 1) and (x2 +1) are
divided by (x + 1) leave the remainder as

R, and R, . The true statement among the

following is
1) R1+H2=0 2) H‘—R‘?:O
3} 2R1+R2=0 4), R —-2R =0

83. In AABC, XY || BC and XY divides the

trlangle into two parts of equal areas. The

AX |
value of —- is
BX

J2
1) Jo-1 2) Y
2
3) NS 4) fo 44
— = .| 1+a?
84. lfa= \/5+2J§ then ——— =
: © a
1) 46 2) 10
3) 5 4 25

85.

C 4 A
In the given figure, if Ab 18C,AC=4,BD=2,
AB=aand CD =hthen a? + b? =

1) 6 2) 8 312 4) 20

86. If sin x + sin2 xi= 1 then the vaiue of

"c0s'?x + 3cos'® x % 3 cos® x + cosbx is
1) 0 2) 1 3) 2 4) 3

28

T

ness

L Qs

mmoéd&‘:ﬁl
JTROIRY "‘"dra QB3os
1) 7 2) 10 3) 20

81. I3 Tmeoind TXTrY aaﬁvd 5. 8 gé

' 4) 40

82. (x*- )33 (k2 + 1)u£a"‘c3.raeaﬁdab {(x+1)
[alela AT ERarY] R, ms: R, Scansd J\a@oix:éw
sqna:gmo Todind Deed

) R +R,=0 2) R - R,=0

3) 2R, +R, =0 49 R -2R,=0"
83. AABCoHQ XY || BCTHh3) XY oo b,

QT Xt WAL [WLEd phans,

e g;— & o3¢
VB g _gg_
AN 4 J2+1
' . 1+a?
84. a= .f5+2,j§ udd. - =
) 446 210
3) 5 4) o6

85.

c 4 . A

At WIEY  AD 1 BC, AC=4,BD=2,
AB = aafnéa CD=b 08 a?+ b2 =

1) 6 2) 8 3 12 4) 20

86. sinx +sin?x =153
cos”x + 3¢0s" x + 3 cos® x + coséx &
Y 2) 1 3) 2 4) 3

a3
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87.

88.

89.

90.

91.

92.

.93.

. 94,

The area of the triangle formed by the points
(8, b+c), (b c+a) and {c,a +b})is
10 2) 1
abe 4) a+b-+o
2 2

3)

Two lines are to be parallel. The equation of

one of the tines is 8x + 6y = 28. The equation
of the second line can be

1) 3x+4y=14"
3} 2y +x =28

2) Bx+ 8By =28
4) 3y + 4x =14

If A and G are AM and GM of two given

positive numbers ‘a’ and ‘b’, then
/-{;_“\/—b— 2

2 )T |

1 A+G . 2)A-G

H AxG 4 A+ G

i the m™ term of harmonic progression is
“n” and n'" term is “m” then (mn)""term is
1

mn
a1

1)y mn 2)
31

The maximum number of non-empty subsets

ofset {0,1,2,3}is

i} 7 2) 8 3} 15 4) 16

The number ofarrangements of all the letters
of the word “GOUR!”, so that all vowels do
not occur together will be

1) 36 2) 84 3) 108 4) 120 |

If 2°C,
1) 5

: °C,=12:1 then the value of ‘'n’is
2] 6 3) 10 4 1

There are two temples one on each bank of a
rivers just opposite to each other. One temple
is 40 m high. As observed from the top of
this temple, the angle of depression of the
top and foot of the other temple are 30° and
60° respectively. The width of river is

403 . L 4o
4 < g

3) 129, 4) B9
3 Js

29

87.

B8

89.

90.

O RO O O

(@, b +c), (b, c +a) > (c, a + b) VewnRPn
SOOI HHEE DyereT

10 21
3) .abc 4) a+ I)-e_-g
2 2
a‘dab Teino3d Hoddesdnd &m%cs a@mf&

eth Jesdod mweITe 8x + 6y =28 dd
BB Seadody Bonessed
1) 3x+ 4y =14 2) 6x + 8y =28

3) 2y +x=28 4) 3y +4x =14

A3y G rivh Qvth O8I *’oaﬂ_gf@acﬁ' a =3y
b nd ”a‘uao d @y hEee3d aﬂsat,ﬁgivadti

(«f Jo Y

ﬁ.;ﬁ J—2‘

1) A+G 2 A-G
3) AxG 4 A =G

aoaciﬁ ZeReh mee IS nHFH nEe o m
=g (mn)&c D3

‘t _
} mn 2} -
31 4 -1
91. {0,1,2, 3} rirex? ZRY[VE eomreanty 7o Xoss,

92.

93.

107 2) 8 3) 15 4} 16

“GOURI" TRTOT D 87, d'{r#:b WY LBROUD,
wCJ; gdﬂea.) wvi"{ CﬁOa 5.\» &Dfﬁaﬁu ?.,.n..-..:
JIPNE

143 2 84

3) 108 4y 120

?C,:"Cy=12:1 @038 'n's 34

s 26 3) 10 4 U

. Lot Rocw 53\3 Tiotdck woed wd,,.d i 0N

QKD dcdma%ﬁfa:} 2.0TH d":S*ewd aed 40m.
g des:iﬁ,%a%d Hedlon faa’fa od. dﬂaﬁwasd Hd
g TR, gl Juomcs dﬁﬁé&mﬁi@

3pbaseh 307D 60° BN TITRTD SOk LU

4043 ' 40
1 }J—m 2} m
4 g
120 80

3 f 4
N ) J3
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95.

Out of 30 consecu'tive positive numbers 2 are
choose at random The probabmty that their

_sum |s odd is

B e

10 . 14 15
2) —
29

Statement A : The.rationalising factor of
Ya+ibis Ya- b -
StatementB: The product of (i’f;—?/b_)

and (i‘/;fﬂ/b_zﬁﬁ) is (a — b).

- 1) Both A and B statements are true
Z2) BothAandB étatements are false
3) Aistrue and B is false

4} Aisfalse and Bis true

8.

99.

100.

TP and TQ are tangents drawn to a c¢ircle with

centre ‘0’ / OPQ=2a,measure of ~ PTO is
1

1) -a

2
ot e

3) 2a  4) 4a

If one root of the equation x2 + ax + b= 0
is y times the other. Then the coirect
relations ameng the followmg is

1) 3a®=16b - 2) 16a%=3b

3) 3a=16b - 4) 16a=3b°

The mean and mode df_"a set of data are
respectively 2 n and 5 n. The median of same

datais

9n 2)7n  3)5n  4) 3n

The diameter of a metal ball is 3.5 cm. If the

density cf the metal is 9.8 g/cm? then mass

of the ball is
1) 200g

3) 16009

2) 220¢
4) 1760 ¢

30

95,

96.

97.

98.

99.

100.

SN 30 o

VDG A e

xos3n¥d 2 503351'{6}'&1}%
omq)agéaan 3ﬁc§:i.ra%can:3. 51 ﬁoaﬁg{# IcE]
EAFS ﬁosjﬁoinnmﬁ noP=AEHI

) 29 ) 29 ) 29 .29
TeoE A Ya iy § 930S Ya b

BewsB : (3/;—\’/!?) 3y (W+yb_2+%)
ne rbraoa% (a~b).

1) Az3 Bodde @Beodns 30

2) Asd Bodde Scint I3

3 Acky 30 shd Bodo 3z

4 Aok 3 3 Babs 70

P

.. Q-

TP =& TQ e O FeoTATT c_.dd%a;

gsramanaa. Z0PQ=2a 2R3 ZPTO B =252

3) 2a

»JOZJOCﬁrDwa CDC
1) 3a°=16b
3) 3a=160"" .- * 4)

B0y TRpTR0Ens XoeX0 THy EOIRD Fhamwi
2n a’ns’o 5 n&sﬂcﬁd e B3 *?:mo%ﬁ@ DEROTY
1) 9n. 2) 7n° 3) 5n  4) 3n

wom: detzs dold =% 3.5 om thy WA

drean motid 9.8 giomy? &t ol GEme
f) 200g 2} 220g
3} 1600g 4y 176049
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